AOTIZTIKOI APIOGMOAEIKTEZ — ACCOUNTING RATIOS
Ap1Opodeikteg PeuoTtéTnTag — Liquidity Ratios.
1. ApwOpoodciktng Kvkhogopuoxig Pevototntag (Working Capital Ratio or Current Ratio).

Kvkhopopraxod Evepyntikod
Bpayvnpdbeopo [Mabnrtikd

ApBpodeixtng Kukiopoprakng Pevotdtroc =

Current Assets
Current Liabilities

Working Capital Ratio =

2. Apupodciktng Mpaypatikig Pevetéotyrag (Quick Assets, or Liquidity or Acid test ratio).

Kvkhogopiaxd Evepyntikd — Tehod AndOepa
Bpayvnpobeopo [Mabntikod

ApBpodeiktng [paypatikng Pevotdtrog =

Current Assets - Stock

Quick Assets Ratio = Current Liabilities

3. ApwOpodeiktng Apeong Taopgwokis Pevetotntog (Immediate Cash Ratio)

Tapeio + Tpanela
Bpayvnpobeopo [Tabntiko

ApBpooeixtng Apeong Tapewokng Pevotomrag =

Cash + Bank
Current Liabilities

Immediate Cash Ratio =
4.  ApOpodeiktng Kvkhopoprokiig Tayvtnrog Aro0sparov (Epropeopdrov) (Stock
Turnover Ratio).

Koéotoc tov [IoAcewnv
Méoog Opog AmoBepdrmv

ApBpodeixtng Kukiogoprakng Toyvtntag AnoBepdrov =

Apyico AmoBepa + Telkd AndOspo
2

Mécog Opog AnoBepdrmv =

Cost of Sales
Average Stock

Stock Turnover Ratio =

Opening Stock + Closing Stock
2

Average Stock =

5. Apupodciktng Méong Awdpkerag Xopnyovpévov Ietdoswv (Debtors Ratio).

Xpewoteg X 3651 X 521X 12
Koabapéc [Moinoeic pe [ictmon

Ap1Bpodeixtne Méong Audpkelag Xopnyovpévev Ilictodoeny =

Debtors X 365 or X 52 or X 12

Debtors Ratio = Net Credit Sales




6. ApOpodciktng Méong Awdpkerog Aoppavopéivov Ihoetdoewv (Creditors Ratio).

[Tiototég X 36517 X 521 X 12

ApBpodeixtng Méong Awdpkelag AapPavopévev ITlotdoewmv = Kabapéz Ayopéc e Iiotwon

Creditors X 365 or X 52 or X 12
Net Credit Purchases

Creditors Ratio =

Api10podeikTeg ATrodoTikOTNTAG - Profitability Ratios.

7.  Appodeiktnc Miktov Képdoug (Gross Profit Ratio).

Mukt6 Képoog X 100
Kabapéc [Toinoeig (Toig petpnroig + pe miotmon)

ApBpodeixtng Miktod Képdovg =

Gross Profit X 100
Net Sales (Cash + Credit Sales)

Gross Profit Ratio =

8. Apupodeiktne Kabapov Képdovg (Net Profit Ratio).

KoBapd Képdog X 100
KaBapéc [Tornoeig (Toig petpnroig + pe mictmon)

Ap1Bpodeixtng Kabapov Képdovg =

Net Profit X 100
Net Sales (Cash + Credit Sales)

Net Profit Ratio =

9. ApwOpodeiktng AmodotikotTnTos ATacyorlovpuévov Kepaiaiov (Return on Capital
Employed).

KaBap6 Képdog petd m ®opoloyia

AmnaoyoAiovpevo KepdAaio X 100

Ap1Bpodeixtng Amodotikdtntag Anacyorovpévonv Kepotaiov =

Amaoyohobdpevo kepdlalo = Metoywd Kepdiato + Anobepaticd + Oporoyieg (MaxponpdBeopo [abntuco)

Net Profit after Tax
Return on Capital Employed Ratio = + Debenture Interest X 100
Capital Employed

10. ApOpodeiktng AmodotikotTntag Koo Metoyikov Kepalaiov (Net Income as a
Percentage of Equity Capital).

KaBapd Képdog petd t Poporoyia — Mépiopa [pov. Metoymv
Metoyucd Kepdraio Kowvov Metoymv

Ap. Amodotikotntag Kowod Metoyikod Kepotaiov = x 100

. . . Net Profit after Tax — Preference Dividend
Net Income as a Percentage of Equity Capital Ratio = Equity Capital (Ordinary Share Capital) X100




Aiapopol aAAol ApIBuOBEIKTEG.

11. BaOpoc E€aptioems Kowov Metoyikov Keparaiov (Capital Gearing Ratio).

Metoyud Kepdroio Kowvav Metoyav

Babpog E€aptioeng Kowod Metoyikov Kepaiaiov = Metoyucd Kepdhato Ipov. Metoydv + Makpormpddeouo Madnticd

Equity Capital (Ordinary Share Capital)

Capital Gearing Ratio = Preference Share Capital + Long Term Liabilities (Fixed Interest Capital)

12. Xyéon AmoBepatikav ko Kowvov Metoyikov Kepaiaiov 1) BaOpég
Avtoypnuarodoricems (Reserves to Equity Capital Ratio or Self Financing Ratio).

AmoBepaticd X 100
Metoywd Kepdhao Kowvdv Metoyadv

Yyéon AmoBepatikov kot Kowvod Metoykot Kepaiaiov =

Reserves X 100
Equity Capital ( Ordinary Share Capital)

Reserves to Equity Capital Ratio =

13. Mpaypotucy Aéia Metoyng (Net Assets Value of Shares).

Metoywco Kepdloto Kowvav Metoyav + Amobepotikd

ApBpodeiktng Hpaypotiknig A&iog Metoyng = AptOpoc Koy Metoyoy

Ordinary Share Capital + Reserves

Net Assets Value of Shares = Number of Ordinary Shares

14. Moocooto pepispatog Tov Koo Metoyikov Keparaiov (Dividend as a Percentage to
Ordinary Share Capital).

Mépiopo Kowvov Metoyav
Metoyiko Keopdhaio Kowwodv Metoydv

ocoo1o pepiopatog tov Kowobd Metoyucot Kepolaiov = X 100

Ordinary Share Dividend
Ordinary Share Capital

Dividend as a Percentage to Ordinary Share Capital = X 100

15. BaOpoc Karvyemg Mepiopatog [povopovymv Metoyav (Preference Dividend Cover).

Kabapd Képdog petd t doporoyia

BaBpoc Kalvyewg Mepiopatog Ipovopodywv Metoyov = Méptopo Hpovopiobymy Metoydy

Net Profit after Taxation
Preference Dividend

Preference Dividend Cover =

16. BaOpoc Karlvyemg Mepiocpatog Kowvav Metoydv (Ordinary Dividend Cover).

KaBapd Képdog petd m Poporoyio — Mépiouo [lpovop. Metoyamv

BoOuoe Ko Meoi Kowdy M A
aBpog Kahvyemg Mepiopatog Kowvav Metoymv Mépiopa Koty Meroyoy

Net Profit after Taxation — Preference Share Dividend

Ordinary Dividend Cover = Ordinary Dividend



17. ApOpodciktng Amodocews oe Képon ava Metoyf (Earnings Per Share Ratio).

KaBapd Képdog petd t Doporoyio — Mépiopo [povop. Metoyaov
Ap1Bpog Kowvav Metoyov

ApBpodeiktmg Atoddcemg oe Képdn ava Metoyn =

Net Profit after Taxation — Preference Share Dividend
Number of Ordinary Shares

Earnings per Share Ratio =
18. Ap1Opodciktng Amwédoong Metoyg 6 Mépiopa pe Baon v Tpéyovea Ty (Dividend
Yield).

Mépiopo avéd Metoyn
Tpéyovoa A&io Metoyng (Tyun Ayopdg)

Amddoon Metoyng o Mépopa pe Baon v Tpéyovoa Ty = X 100

Dividend per Share

Dividend Yield = Market Value per Share

X100




